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  Y1 Y2 Y3 Y4 Y5 

 4,000,000.

00 

4,100,000.00 4,202,500.00 4,307,562.50 4,415,251.56 

 8% 8% 8% 8% 8% 

 320,000.00 328,000.00 336,200.00 344,605.00 353,220.13 

 0.87 0.756 0.658 0.572 0.497 

(  
278,400.00 247,968.00 221,219.60 197,114.06 175,550.40 

  1,120,252.06 

  = 1,120,252.06 - 1,000,000    = Rs. 120,252.06 
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 = (56,000 x 0.25) + (48,000 x 0.75) 

 

= 14,000 + 36,000 

 

= . 50,000   
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                   TC = 20,000 x + 7,500,000        ( ) 
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    = 62,500 x 24 

      = 1,500,000 
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(7) 
 

V 10 <V ≤ 30 30< V ≤ 40 40 <V≤ 45 45 <V ≤ 50 50 <V ≤60 60 <V ≤ 100 
 6 16 12 10 12 4 

Cum. f 6 22 34 44 56 60 

Std. f 3 16 24 20 12 1 
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. 04 

 A = 45  

 x f fx x
2
 fx

2
 d=x-A fd d

2
 fd

2
 

15 3 45 225 675 -30 -90 900 2700 

 25 8 200 625 5000 -20 -160 400 3200 

 35 19 665 1225 23275 -10 -190 100 1900 

 45 24 1080 2025 48600 0 0 0 0 

 55 37 2035 3025 111925 10 370 100 3700 

 65 18 1170 4225 76050 20 360 400 7200 

 75 7 525 5625 39375 30 210 900 6300 

 85 4 340 7225 28900 40 160 1500 6400 

 400 120 6060 24200 333800 40 660 440 31400 

 

 
        

 

   =   fx           =   fd 

  f        f 

 

 = 6060       = 45  +660  

   120                  120 

 

 = 50.5       = 50.5 

(

 

( )  = fx
2
–(x)

-2     
=

 
fd

2
  -   fd

2
 

f        f           f 

  

 = 333,800 - 50.5
2 

    = 31,400   -  660  
2
 

      120        120           120 
  

= 15.21       = 15.21 
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( )    =    

 

      = 15.21 x 100  

       50.5 
 

      = 30.12%          
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                                           73.9                       µ = 75.2                  76.4 

 

  Z1 = 76.4 - 75.2   Z2 = 75.2 - 73.9 

         0.9           0.9 

   = 1.33     = -1.44 

       Area re : Z1  = 0.4082   Area re : Z2     = 0.4251        

 
 

 73.9mm - 76.4mm      =    83.33%         

 
 

 

 

 

      

 

      

   

             Area B                  Area A 

 

 

 

 

 73.2         73.9                      µ = 75.2                     76.4        77.1 

 

  Z1 = 77.1 - 75.2   Z2 = 73.2 - 75.2 

         0.9           0.9 

   = 2.11     = -2.22 

       Area re :A  = 0.4826 - 0.4082  Area re : B      = 0.4868 - 0.4251 

   = 7.44%         = 6.17%     

 

 =  7.44% + 6.17% 

         =  13.61%   
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Area B1       Area A1 

 

 

 

 

 

 

 

 

         73.2        =  75.2                                77.1 

 

           

Area A1 = 0.4826  earlier std (Area re : Z1 + Z2) =  0.8333 

Area B 1 = 0.4868    difference              =   0.9694 – 0.8333  

   0.9694                  =   13.61% 

 

         

 

 

 

 

( ) (i)   = 0.5 - 0.4868 

 

       = 1.32% 

 

    = 132    

 
 

 

 (ii) %   = 13.61% 

 = 13.61 x 10,000 

 

    = 1361 

 

  = 1361 x 48 

 

       = Rs. 65,328   
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( I  α = 

 β  

    (

( ) 

(        

η1 = 50     η = 50 

_       _ 

x1 = 3.56     x2 = 3.64 

 

 = 0.08      = 0.12 

 

 = µ1   = µ2 

 

(i)              =  H0 :  µ1   =   µ2 

   =  H1 : µ1 < µ2  ; µ1 -  µ2 < 0 

( ) 

 

(ii)  = 1
2
 +  2

2
 

          n2 

 

= 0.08
2
  +0.12

2
 

                  50           50 

     = 0.020 

   

(iii)  

 

 

      

 

      

 

  

            

                           -3.92                                    _      _ 

        2.33 = x1– x2 

                                                _     _   

  Ζ1 = x1 – x2                    1
2
+ 2

2
 

    0.020                n1   n2 

   = 3.56 – 3.64 

   = 0.020 

   = -3.92   

  Ζ1 = -3.92 <  Ζ1 = 2.33  
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( )           
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       ( ) 

( ) 0- 24 m/s - 

( ) 

 

x y x
2
 Y

2
 XY 

0 0 0 0 0 

4 132 16 17424 528 

8 275 64 75625 2200 

12 332 144 110224 3984 

16 488 256 238144 7808 

20 821 400 674041 16420 

24 1000 576 1000000 24000 

84 3048 1456 2115458 54940 
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 (r) =  nXY - (X) (Y) / [(nX
2
- (X)

2
][(ny2- (Y)

2
)] 

 

           =  7 (54,940) – (84) (3048)    

   

               7 (1456) – (84)
2
       (7(2,115,458) – (3,048)

2
 

 

         =          128,548   

 

            3,136 x 5,517,902 

 

         =        0.977 

 

         =        0.98    

          ===  

 

  

 

 r
2
     =    0.954  
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. 08 

 

2011      =   101.8%    = 1.018    

2010 

 

 2012 = 103.3%  = 1.033   

 2010 

 

 2012 = 2012  x    2011    = 1.033  x   1.018  

2010  2011    2010 

      = 1.051594 

      = 105.2%   

 

       2012  2010  = 105.2 

==== 

( ) 

 

( ) 

106.7 163 17392.1 

113.4 50 5670 

109.4 78 8533.2 

106.6 36 3837.6 

118.3 160 18928 

101.6 55 5588 

105.2 72 7574.4 

  W = 614 67523.3 

 

 

 = 67523.3 = 109.97 

         614 

 

    =   110           ( ) 

     ===== 

 

 

( ) 2012       = ≈ 110% 

      = 1.10 x   1250 

      =  1375.00 

     ========  
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